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l x| | 1 .
Let f(r)-;—mu[%J!—lmwl and g(x):\/3+4x—4x1 then the domain

(f+8)(x)

l JT‘T. A ; 2 : v
f0)=>-ta| | -L<x<l ool o(1) =\3+dr-4r" @88, B
(f +g)(x) cawd pddw
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Leta> 1 beaconstant. If f:4— 4 and (x,y)e f satisfy a* +a’ =a . then 4 =

0> | & ool odhSoowral. f:4>4 SO (ry)ef &b 0 +a'=ad

2.
(~, 1)

3. ¢

. (=0, a+1)
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- | | 27
f—+—~+ +....ton terms = — then n=
1.5 59 9.13 109
i 1 2 27 e ool
+—+ F a1l VRN = —— 0D, B N =
1-:5 59 9.13 109
Options:
21
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2. v

03
3, %

189
4, %
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1 2
_.O l...
If X =ABA’, then ATX*™A=

; s K 3 / -1
Let B= and A be a 2 x 2 matrix satisfying (A") =A.

Awda 2x2 8668 SP35, (A7) = A Sy DR, 60

(1 2 =
B=| | | e, X =ABA wowd, A'X™ A=

Options:

"1 42021 ]
1. %

4 2021

0 |
2.% N
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0
3.% )
(1 4042 ]
0 |
4.¢ -
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If Aisa3 x 3 matrix such that [A|=27, Adj A=k AT, then k* -3k +5=

A[=27,Adj A=k ATedkgtotn A a3 X 3 Sl oand, o k' -3k+5=

Options:
S
1.¢
=
by
i
0
3. %
2
4. %
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If the system of equations 2x+9y+35z=8, 2x+3y-z=-4, x-2z =-5 have infimte
number of solutions x=-3+at, y=2+bt,z=ct,t € R thena, b, ¢ respectively are

240p+5:28, Qrdp-z=-4, x-22=-5 Hln S0 edd R

y==3+at, y=2+bt,z=ct,teR o, ®) a, b, c 0 SONF

Options:

1.4,1
1. &

2.1,
F

—, =14
3..%

v B |
4,
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It (_ﬁ”)s—(ﬁ-f')s =a +if, then a—£ =

5

s

-

(ng]s—(ﬁ—ff = +if}, YON, ) a—£ﬁ=

Options:

2. %

384
3. ¢

2563
4, %
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If @, 8 are the roots of the equation 14+ x+x” =0, then

(2-a)2-p)2-a")2-a")=

L+x+x" =0 gy Sreren a, f o wond, (2-2)2-)2-a")2-a”)=
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Options:

36
1. %

04
2. %

49
3.

81
4. %
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For neN ( _
l+cos@—ismé

l+cos@+fsm9]n

iond in (1+cos¢9+rsm6’J

l+cos@—isméb

Options:

cos(n@)—isimné
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—cos(n@) +ism(nb)

cos(nf)+isinné

3.+

—cos(n@) —isin né
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f(x)= ax’ -bx—a is a quadratic expression. If K is the least real number such that
f(x)<KVxeR, then

f(x)=ax’ -bx-a a8 S8 DR, f(x)<KVreR, odgb K SR Pued

o3 BONS, B

Options:

K<-2

3.¢v
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-1<K <0

Question Number : 11 Question Id : 342604651 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

: . , 1l
Assertion (A): The maximum value of —x*+3x +1 is 3

T ! ) :
Reason (R):  If a <0, the maximum value of ax™ +bx + ¢ exist at x =—

2a
; ] 11
QYOOI (A) 1 —x" +3x+1 awws) (10 s )
w80 (R) :a<0wowd ax’ +bx+c W), (10Q s X :;—b W 606Nl
L

The correct option among the following is
& S0 2UFUG DOGHIR
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) 030, (R) 0gad0 00K (A) § (R) 000 0€

2%
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(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)

(A) DBga, (R) g0 wone (A) § (R) 000 a8es s

(A) 1s true but (R) 1s false

(A) D950, 9 (R) 9093050

3. %

(A) 1s false but (R) 1s true

(A) 05380, @ (R) Hhga

4,

Question Number : 12 Question Id : 342604652 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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/ ! )
If f(x)=x+av+2=0 and g(x)=x"+2v+a=0 have only one real common roo,

then sum of the roots of f(x)+g(x)=0 s

f(X)=x +ar+2=0 HB0W g(r)=x" +2r+a=00% af of TR0 Ga)le AP0
&ofl, 6@ f(x)+g(x)=0 cawgy dhrero dndo

Options:

—]

)
1,

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



o | —

3. ¢

Question Number : 13 Question Id : 342604653 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

If the roots of the equation 3x'-26x" +52x-24=0 are in geometric progression,
then the sum of two of 1ts roofs 15

880 3 -26x"+52x-24=0 agy. dhreren (e 168" 6ol @ rered

ool 5.‘0?_?0

Options:

W | oo

= 4
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Question Number : 14 Question Id : 342604654 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

4

If x= l +?. *1—2(70 ::Z(IG—I() ,then x4 y+:z=
4 k=l 3
=16 +12 , *-Z("O—;) '-2(6 k) oowd, )i x+y+:=
s G G k=1 (’5
Options:
19% 17X 45
1. %
X 17X 1)
2. %
19 X 17 X 16
3. %
19 X 17 X 48
4.
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of five digit numbers greater than 50000 that can be formed by using all
the digits 0, 1, 3, 5,9 only once 1s

93 0, 1.3, 5,9 0 @nﬁluéja %S :..§p°6 awaiFfow 50000 5ol 33@@ 900N J

®oSU 5@5@ 55030,3
Options:
24
1
48
2.
150
3. %
30
4, ®
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; : . R ip : : ;
In the Biomial expansion of (1+x),if its middle term i the only numerically

oreatest term, then x lies 1n the mterval

(L+x)" By s doarg)bom A0S 58 itlo Sifg o S, S v

Gl @0l
Options:
(—2k 2K)
1. % |
(_k+1 k+1 J
| k k
2. ¢
.- ( — k )
. R

(—(k+1) (k+1))

4. %

Question Number : 17 Question Id : 342604657 Question Type : MCQ Option Shuffling : Yes
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Sum of the coefficients of x'(r=0,1,2,3........15) m the expansion of (3x —1)1515

equal to the sum of the bimomial coeffictents of which of the following expansions”

@ (+1° ) +0°+0-0° (@© (+0°-(1-)"°

(3x-1)” 306 ¥ (r=0,123,......15) fouso oo & b aacs’ & B0
VAPV I VEVAVINAW

@ 05 0 00 @) () -(1-v)"

Options:

(a), (b) and (¢)

(a). (b) 005w (¢)
1.

(a) and (¢)

(a) «0603W (¢)
2.5

(b) and (c)

(b) S00a%w (¢)
3. %

(a) and (b)

(a) SO0 (b)
4, ®
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Question Number : 18 Question Id : 342604658 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The 13™ term in the expansion of (1—4x)™ is

(1-4x)™ 200" 13 & DS

Options:
- 12 12
19 X
C,
1, *
128x~
i
- 12 12
154 x
G,
3.¢
1092 x*°
4, %
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Ox—7

The partial fraction decomposition of ' 1S
(x+3)(x"+1)

el Gy, LS D), VS0
(x+3)(x"+1)
Options:
17  (17x-6)
Sx+3) Sixt40)
1. 8
=17 flix—6)
 5(x+3)  5(x*+1)
.-
17 +(l7x—~6)
. 5(x+3) 5(x*+1)
—17 +(l7x——6)
5 M(x+3) S(x"+1)

Question Number : 20 Question Id : 342604660 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks: 0

141 T —-_?T)_l:
8

COS =+ COS=— + COS
8 4

Options:

1. %
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T 3T Sx

4cos—CosS COS —
16 4 8
T T . S
4 cos—CcOosS—sIn
| 16 8 8
2. %

T RY/4 Or
4 cos — COS— COS —

16 8 16
3. ¢
T Sx T
—4CcO0S—COS—COS—
i 16 8 16

Question Number : 21 Question Id : 342604661 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

2sim o

If = y. then

l+cosa+smma

2SI o

| +cosa +sm o

Options:

]

X

_;\"'
2.¢

l—-cosa—sino

CoSx

| -cosa —sm o

= X, 0NN, V)l
cCoS o
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Question Number : 22 Question Id : 342604662 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

2

15 ~1

cot

cot’15” +1
Options:

L
2

rd‘&'

2. ¢
33
4
3. %
Y
4, %
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Question Number : 23 Question Id : 342604663 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
[fA+B+C=4S, then cos(2S-A) + cos(2S—B)—cos(2S=C) - cos 28 =

A+B+C =4S 0o, @)k cos(2S-A) + cos(2S-B)-cos(2S-C) - cos 2S =

Options:

A B C
4 c0S—COS—COS —
2 2 2

1. %
& . B B
4 coSs=—S11 —S11 —
2 2 2

2.
- B . 9P
4s11n1 — CcOS —S11 —
2 2 d,

3, %
B B B
4s111 =—S111 = COS —
) 2, ,
4. & - =

Question Number : 24 Question Id : 342604664 Question Type : MCQ Option Shuffling : Yes
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e -7 T .
The number of values of  satisfying sin4x =cos3x and — <x <=, is

0 2
o ; -, T P }
sin4x =cos3x DO ? <X<— o) &R WOW x NSNS Vo3

Options:

0
1 b

|
2. %

2
3.9

3
4, %

Question Number : 25 Question Id : 342604665 Question Type : MCQ Option Shuffling : Yes
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an| Tan™ L+Tan L+Tan -Li‘ +Tan™ l

It f(n)
L 1+2 1+6 1412 L+n(n+1)
then £(2021) =
4 1 % 1 ¢ 1 w ¥
f(n)=tan| Tan” —+Tan~ —+Tan™ —+...+Tan
1+2 146 [+]12 L+n(n+1)

0NN, V) f(2021) =

Options:
2020
2022
1. %
2022
2024

2. %
2021
2023

3.+
2019
2021

4, 8

Question Number : 26 Question Id : 342604666 Question Type : MCQ Option Shuffling : Yes
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If y=log,smx. then the mmimum value of cos /1 y 1s

v =log, sinx @owdd, cos 1 y G, 5@3’5 SIS INS

Options:
2
1. %
2
_ e
i
e
2
3"
]
4, v

Question Number : 27 Question Id : 342604667 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

2 2
Ina AABC, if ZC=90, (12 +22 sn(A-B)=1and 0 <B < 45, then
n —
a+b ._ 5 5
w$AABCS ZC=90, = % sin(A-B)=1 06080 0<B < 45 eond, el
a —
Options:
1. %
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a>b>c¢

c>a>h
2. ¢

c>b>a
3. %

a<b<c
4, %

Question Number : 28 Question Id : 342604668 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC, 1f 1, =rr;, then cos 2B =

s Sedasn ABC S, 11y, =11, ©0NS, Y cos 2B =

—_

Options:
— ]
1.¢
1
2. ®
0
3"
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Question Number : 29 Question Id : 342604669 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the sides of a triangle are 3. 4 and 3 then the circumradius of the triangle 1s

WS gmm oiwﬁ& 2002320060 3. 4 DO S “ows & @2632@ 20y @,Sﬁf*go

Options:
2
1. ™
-
D
P
2. ®
5
2
3.9
7
2
4, =

Question Number : 30 Question Id : 342604670 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

,(B—C) . l[l?—(f“
cos[ = ] sin” | ——
Ina AABC, ———+————~ =
(b+c) (b—&)
BTN | af Bl
oS J sin —J
¢ ABCe', — 2 ), L2 )
(b+c) (b—c)

Options:

1/ a’®

1. ¢

2/a’
2. %

3/a’
3, %

4—/(11
4, %

Question Number : 31 Question Id : 342604671 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If the collmear pomnts A, B and C have position vectors respectively (1, x, 3), (3.4, 7)
and (y,-2,-5), thenx +y=

oo doladen A, B hookn € o Fdden S (1, x, 3), (3, 4, 7) hook

(v,-2,-5) ©oww, YW x+y=

Options:
-1
1.¢
1
2. %
-
3. "
5
4, ®

Question Number : 32 Question Id : 342604672 Question Type : MCQ Option Shuffling : Yes
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The two lmes L, r=(i+ 5}+5E)+r(4; —4}+ SE) and

L, :;:(2;+ 4}%—5?)«%5(8;—3]4}) are such that

S L :;:(;'+ 5}+5E)+r(4; —4}+ SE) AVeToV IV

L:r=(2i+4j+5k)+s(8i-3j+k) o

Options:
both are parallel
Ooler 0”000l P &°) O
1 &
both are perpendicular
Coler 2uETWPAS NTEEL Lo2oolP &T°) OW
2. %
both are Skew lines
Coler TS O
3.
both are non-Skew lines, non-parallel, non-perpendicular lines
Oolel TR0 TR, VFoSIorP S, Lol S OV
4, %

Question Number : 33 Question Id : 342604673 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

a, b, ¢ are non-coplanar vectors. If the posttion vector of the pomt of mtersection of

the line r=a *”b+p(n—”c) and the plane r=3a- q[c ] (n b+ r)
r=xa+ .rb +zc, then x Y=
abe w edOd Mkn o r=a+depla-l| Lo do

r=3a ( b] A(n b-‘-t”] O Yol Wolldel) TG Pl =+ 1b+'c

QOWD, B Y11=
Options:
—8
19
8
2. %
12
3. %
~12
4, %

Question Number : 34 Question Id : 342604674 Question Type : MCQ Option Shuffling : Yes
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Let . b. ¢ be unit vectors such that 2a+3b+4¢=0. Then pxc

2a+3b+4¢=1 wclighip 0.b,¢ o 0br 0ikn G, 0 o=

Options:
15
8

1.

e | -
O\’_.h

2, %
15
. 4
3, %
1D
2
4. %

Question Number : 35 Question Id : 342604675 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
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The shortest distance between the Skew lines r = ( 3i+ 4} - ZA-') + (-; . 2} +E) and

F:('}-7}-3E)+,u(§+3}+3§) s

ST S ;:(_3;+4}—2E.)+).(—;+2}+E) WEOWY

F:(E-?}-JE)+,u(_E+3}+zE)o Sy 408 e

Options:

545
1 _
2. ®
3. ¢
36
55
4. %

Question Number : 36 Question Id : 342604676 Question Type : MCQ Option Shuffling : Yes
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1B=5-5-F,a=5e4)-F nd B 0]} By b

i

b=2i-j-k, a=3i+4]-5k 60 bx(ExE)_M owe, @@@— 0

F

Options:

the orthogonal projection of b on a and equal to A

V50
y

a @ b SISy Vot DEDSD HOAK 8 —— K HXTFSo

V50

1. %
I - = 7
the orthogonal projection of @ on b and equal to E
B a G, Got 28D SO0 ©6 —— K HESo
J6
2.
the orthogonal projection of 5 in the direction perpendicular to a and equal to
5
3
1% o 836 b i, oo 280 1008 68 DS
3. % .
4, %
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the orthogonal projection of a in the direction perpendicular to b and equal
152

..,
J

[0

132

b % ot B3 @ g, Vow SEHSN B0 B — K KT

-

J

Question Number : 37 Question Id : 342604677 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[f My and M, are the mean deviations from mean and median of the first 15 even
Integers then M; + M, =

WA 15 90 Rowgu, @of Dz N0 dgiSew ol (o g
AWV P M; 000 My wond M; + M, =

Options:
112
Y
224
15
2.V
56
15
3"
4. %
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Question Number : 38 Question Id : 342604678 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A box contams 8 red, 3 white and 9 blue balls. If 3 balls are drawn from the box at
random one after the other without replacement, then the probability that they are 2
red balls and 1 white ball 1s

w8 2 8 AR, 3 S D00k 9 Aol aoiudd K0 6l & AT ol
QPGS 3 ool 6T S 6l AR TN 0 A GowSdotaanit,
S 60 2 oJ0R) | Bewr) ot 9S8 Nograly

Options:

7

95
1. ¢

f—
4J

\O
N
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A bag B contains 4 white balls and 2 black balls. Another bag C contains 3 white balls
and 3 black balls. If one ball 1s drawn randomly from each bag, then the probability
that the two balls drawn are both white 1s
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From 3n consecutive mtegers three mtegers are selected at random. The probability

that therr sum 15 divisible by 3 1
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A die 15 rolled 3 times. Gettmg an odd number 1 one trail 15 considered as a success.
The vartance of the distribution of successes 1s
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Face masks are supplied to a juntor college i packets of 100. If there 15 a chance that
| 1n 500 face masks 15 defective, then the number of packets containing no defective
face masks 1n a consignment of 10,000 packets 15
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A(1,0),B(0,2)and C (1, 2) are three pomnts on XY-plane. If a pomt P(x, y) which
moves such that the area of triangle PAB 1s twice the area of the triangle ABC, then
the locus of the pomt P 15

A(1.0). B(0,2) ook C (1, 2) e XY-Suo 2 sordes edodida)en. Sabasady PAB
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Options:
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4 +4xv+ 3" —8x—4y—-12=0
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4x* —4xy+y* —8x+4y-12=0
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4 +4xy +y> —-8x+4y+12=0
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The angle by which axes are to be rotated without changing the origm so that the
transformed equation of x* +4xy-v* =0 in new coordinates (X, Y) does not contain
XY term 1s

§& rdsw (X, V) 6 2 +dw-y =0 ), Eriredd bédad XY o
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A straight [me passing through origim O mtersects the lmes 10x-8y-10=0 and
¥ 3 . . . -
1—'?1 =() at right angles and at the points P and Q respectively. Then the ratio m
which O divides the line segment PQ 15
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00000 = ~2+1=0 B0 oot o, S ko PQ o 0 ftodd Ak
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Constder the lmes L, =4x+5y-6=0, L, =2x+3y-4=0,L, =3v-y+2=0.If the
line Z, =0 mtersects the lmes L, =0and L, =0 at the pomts A and B respectively,
then the combined equation of 04 and OB 15

L =4x+5y-6=0, L, =2x+3y-4=0,L, =3x-y+2=0 dous &uses. L, =0
000 L, =0 dpod S A 0000 B olidgo S48 I =000 @0, o0
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Options:

26x" +17xy+2y° =0
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x. ¥ , ; : .
r-y=0 and ;+*;:1 are respectively the perpendicular bisectors of the sides AB

and AC of a triangle ABC. If the vertex 15 A (2, 3). then the equation of the side BC 15
ey ABC cinfy abaoen AB 60y AC  alg, wow Sbdgwediad Javw

45 1- =0 008 =+2=1. 8650 A (2,3) wowd, 2y BC ke

Options:

x—2y+1=0
1.¢
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2. %
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[n an 1sosceles right angled triangle, 1f the equation of the hypotenuse and its opposite
vertex are 3x+4v=4 and (2, 2), then the slopes of the remamning two sides are
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The product of the length of perpendiculars from origin to the pamr of lines
43y Hay-4x-10y+3=0 is

0 Wolded) dods W00 Ay 439 + -4 -10y+3 =08 o oo &roo

Voo
Options:
2
D
20
1.
2. %

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



3
5
3 =
3
V5
4, %

Question Number : 50 Question Id : 342604690 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If ax'+2hy+by’ +2g0+2fy+¢=0 represents a pair of lines, which of the
following statements 1s true”

o + Dy + by +2ge+ 2 +e=0 o8 S00EaR QR R, & Sob 28 A6
880 ?
Options:

If the slope of one line 1s negative of the slope of another line, then /7 =0
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If the two lines are parallel then 2/ (gh+af)=0

Oole) B Nelro®lorP &old, 21 (gh+af )=0

If the two lines intersect at origin then g= /=0 and »* =ab

B0t Bt PRt 56 BotosoSedd, g =1 =0 Lo 1 =ab

3. %
The x- coordnate of the pomt of mtersection of the lines 1s positive when
hf —bg >0
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o) 0R
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If the line v =mx+C isa tangent to the circle x*+y* =16 then m =

X417 =16 SyPR8 y=mr+C a8 23y S wowd, e m =
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If the pomts (2,3) and (K,-2) are conjugate with respect to the circle

0+ -2r+4y-2=0 thenK =
vyt =2+ dy-2=08y8 3Py (2.3) 0ai (K,-2) e ookl dodoa)en
oond, K =
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The number of common tangents that can be drawn to the circles
9 4 1 9 "
x4y -2¢-2y-23=0and x"+y -dx-dy-1=015
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A point that lies on the common tangent to the circles ¥+ v* = 2x+18y+78 =0 and

x*+y" +8r-6y-200=0 among the following options is

S0 PO ¢4y =218+ 78=0 00 x'+y” +8r-6y-200=0 SyTv
GG )0 00 & 6ils S Wolda)

Options:
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The length of the common chord of the circles x* + y*+2x+3y+1=0 and
4y Hde43y+2=0 s

430+ 204 3y+1=0 000 ¥+ 37+ + 3+ 2= 058800 Gefny & g e

Options:
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. . g
The parametric equations of the parabola x* -8x+12y+15=0are

DTS00 x° —8x+12y +15 =0 d). HorSal H¥Easen
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1
x=4+6t,y=—-3t"
‘ 2
| T
x=—-—3t".vy=4+6¢
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The equation of the directrix of the parabola (2x-3y-3)" =20(3x +2y+1) is

2o (20-3y-5) =20(3x+2y+) A, FONES Ta RaEleio

Options:

3x+2v+1+543=0
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Given the ellipse (E) 4x*+9y°-36=0, the circle (C) " +* -9=0and two points

A(1,2), B(2, 1). Which of the following 1s correct?

&E %% (E) 4r +9y"-36=0, o (C) 47 -9=0 H00% Botd) DoldeHen

A(L,2), B2, 1) o g g, $ob ama 6 Se8g0?

Options:

B lies mside C but outside E

C 3 S0, E 0 20008, B Gotwod

1 8

B lies outside both C and E

C 06050 E %0 2000& B &odod
2, %

A lies mside both C and E
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3, %

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



A lies mside C. but outside E

C &S00, E R 20008, A Godood
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Ifacircle (x-1)"+y* =7 touches the ellipse x*+4y* =16 internally, then r=

(=11 +5" =r" ol Sydo, ¥’ +4y" =16 & S0 wodUorP D)), G 1
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: ¥ ¥ |

If the latus rectum of a hyperbola —-==1 subtends an angle of 60" at the other
”.'- -

focus, then the eccentricity of the hyperbola 15

1% el f—-};—l Gty o oo S0 7 5 60 S0 )
a

) & BSITS0N0 G, &) ol

Options:
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The centroid of a triangle with vertices A(3, 4, 5), B(6, 7, 2) and C(x, v, 2) 15 (3, 2, ;
then v+ y+ 2=

it
e

g
"‘-"’

AG, 4,5), B(6, 7, 2), Clx, y, 2) dceeure $03 Sabaadd alnsy, Sol) &vo (3, 2, 3

OO, Yt yt 2=

Options:
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If (2,-1,2) and (K,-3,-5) are the triads of direction ratios of two lines and the angle

between the lmnes 15 60", then

I (2-12) 6080 (K,3,-5) Stocn Dot o 66 soogen 0608 & S Sl
§'c0 60 0, )
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Options:

5K* 110K +112=0

7K*-112K -110=0

;¥

7K* —112K +110=0
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A pomt on the plane determmed by the pomts A (1, 1, =1), B (2, -1, 0) and
C (-1, 0, 2) among the following 1s

8ed 02308 A (1,1, -1),B (2, -1, 0) $00% € (=1, 0,2) 03 00708 S0  od

08 Boldeg)
Options:
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(2,~2,9

(2; 1,2
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If f(x)=—(sin”x+cos’ x), then liml f'(x)

: x—0 Y 5

f(x)=—(sin” x +cos’ x) oD, Y ligglf’(x)
| w3

Options:

exist and 1s equal to 0

3852890 SO0 0 5 VaseSo

1. %
exist and 1s equal to 7
3900 2NOAN 7 50 Daloedo
2. %
exist and 1s equal to 3
S350 sDOAIW 3 5V DaliPdo
2.
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does not exist

385080 96
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Let a. b. ¢ be three real numbers. If the function

(cos(2x+m) if x<0
7 )_Jm€+l> i Dowxzl
(x " ex+4 i Isx%22
3041 B =2

is continuous everywhere, then b —bc+c¢” =

a, b, c 0 NP TPVN VoW LN DSV,

O3NS0 f(x) =

(cos(2x+ ) if

ax” +b if
ex+4 if
3a+1 if

L

2O T8 02DV S0 wowd, @i b’ —be+c’

Options:
133
1. ¢
157
2. %
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If f:R—R 15 a differentiable function at aeR such that f'(a)=af(a), then
’ xf (a)-af (x)

I=4 X—-a

fla)=af(a) wabgikn, aeR & fRHR af ododah pbabdd wows,

o)W Lt =
S
Options:
(1-a*)f(a)
(PR

/(a)

a
2, %

af (a)
3, %

f(a)

a7
4, %
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If x=a(t—sint) and v=a(l—cost) then ¥ =

dx’
. o o B
x=a(t—sint) 00N v=a(l—cost) Lond, @i F = =
X
Options:
|
e ad
dasin’ (-—]
9
1 ®
-1
. [
4asin’ (— }
7
2.V
|
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If y=Cos™ (tanh x) + sinh(sin 6x), then a =

dx
3 . . v 2. ay
y = Cos™ (tanh x) + sinh(sin 6x) OB, YK — =
dx
Options:
-1 .
+ 6.¢cos 6x cosh(sin 6x)
cosh x
1. ¥
| .
—6.c0s 6xcosh(sin 6x)
cosh x
2, %
. |
—— —6c0s 6xcosh(sin 6x)
cosh x
3, %
1 .
——— +6¢0s 6x cosh(sin 6x)
cosh x

4, %
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i §i= 1’/"‘_ then P

dx
V= 1\/: VoD, VY D -
dx
Options:
In x
2\2
1. %
W
J;
2, %
vinx
2\x
3, %
y(lnx+2)
‘_'_) -
4. 2
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let R =R- {(?A )2 / EI] The function f:R >R is defined as

f(x)=tanx-x, then f(x) is

R'=R- /AeI] od8owo. fR SR Jdhalrdy f(x)=tanx-x

-
l |
Wy s f(x)

Options:

an 1ncreasing function

. 28 0 T7er 2e000e0
1. ¢
a decreasing function
. 28 ST LaOIS0
minimum at x =0
x=0 &’)@ 5:335)0 56? &oCNoW
3. %
a periodic function
208 @505 De3008SW
4, ®
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If the tangent to the curve xy+av+by =0 at (1.1) makes an angle Tan™2 with

- a+b
X-axis, then —=
ab
[ [ 4 MV ; b4 ¥ ' 'l*‘} : 55 Vo s ﬂ"‘b
xp+av+by=0 G5 (L1) 0 ny0) 0o X- ko Tan™2 §tio Wy @) 3
(a
Options:
0
1 &
|
g,
2. ¢
—1
2
3. %
2
4, %
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The volume of a spherical balloon is increasing at the rate of 2 cm’ / sec. When its
radius is 4 e, the rate of change of its surface area (n cm®/sec) is

W () wod Suviddelitio 2 8 [Ro] [0 / A Sy axdorodaod. G0 argiPdo

4 oo | 6 )0, TR 6050 JTrgols oy B (0] o [/ 080 )
Options:
1
1.¢¥
¥
2. %
3
3"
4. ®
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e e , 18 19
If a cubic finction f{x)=ax’ + by’ =—x+— has maximum value 10 at ¥=-3 and

> 10

i - |
has minimum value — itx= 2, then £(1)=

(
W8 3 Do f(x)=ax’ +1 ,‘“’_&HB o0 v=-3 o (0% aend 10 &

)y 10
oﬁ)éoﬁmf’nﬁé“@wwaﬂ §@mé3 s f(1)=

Options:
—-10
1. %
-0
5
2.V
6
3%
28
5
4, B
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.f’ Y -,r 3 0| \J

. in ‘_1] £Bf(x), then f(x)=

If I ! i (ﬁ .1‘—3"'3' i 1(1"-3*'! Bf( ] .
; ax=) Al—| 1) ,4 +B f(x) cone, @)
j(l‘-?)'(.1'~l)4 r=—4471‘u. o ,r:]hj”a .

flx)=

Options:

log(x—2)—log(x—1)

1.¥
xX—2
+log X
x—1
2. %
X —2
x+log
x—1
3, %
log x
4. %

Question Number : 76 Question Id : 342604716 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



3
v

—dx using the substifution x = tan
(1 +y )

If f(x)+Kis obtained by evaluating j 3

3
X

(l+x3)

and  g(x)+C is obtained by evaluating J dr, using the substitution

3
v +1=Z  then f(x)-g(x)+K-C=

3

v=tand & HSEdodtio oy J( ! ~dv o ol f(x)+K Teoadod
+x'] )
3
o =29 gadidte T [— )30& S Hhore g(r)+C
[1+x°

CatnGod, oW f(r)-g(x)+K-C=

Options:

1
A

1.8

any constant

DB DToEW
2.
any function of x
x & BT PO
3. %
4. %
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For -1<x<land y>1,1f J. !

Al+xV2+B(1-1)"

-1<x<l aﬁ)OOﬁ.U V > ]

y
Options:
2
15
1 %
—4
45
2.
—4
15
3. %

"
" d!:
Jr+lyr-1 '1

o) '~l)%*+C‘then A7(y)+Be(y)=

'(\/l+r+\/l X
AL+x) 2+ B2+ {3y +

Af(y)+Bgly)=

%

dwj

\/1+1+\/1 l

+a(y)(y l)/ +( 000,096
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4
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)

Let {xf denotes the fractional part of a real number x. Then Jf X dx =
0

TS oy x qwsy Ay wrddn (fractional part)d {r}e Wragr. G

g

j et di =
0
Options:
1
1.¢
2
2. %
3
3. %
0
4, ¥
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I

)

1—x“ldx =

Options:
1
1. ®
2
2.9
-
D
3;.%
1
2
4, %
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If the solution of 4 (3r4y+4) s —l_l-(Tﬂll_l f(x.v))-x=K then f(L2)=

dx 3

-

@ _ (Bx+y+4) a6 %(’Tan“ fx.))-x=K oowd, s f(12)=
)

dx J_

Options:

NG

1. %
3

2. %

-3 . |

RV
3.V

2+/3
4, ¥

Physics
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Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Section Marks : 40
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Which of the following statement 1s correct?
&8 808 IS’ o) 6§ HOSE?

Options:

Electromagnetic force 1s short ranged

QIS O 0 2oerren S¥) &S T°gR 5O @obrow

Relative strength of gravitational force 1s higher than that of weak nuclear
force

(000 Soli¥ averutam) i aere) PR DS 80

Range of the weak nuclear force 1s smaller than that of strong nuclear force

(0N S0l QIUPL TPgR) VWL Sols WP S°) B8 o
3. ¥
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Relative strength of strong nuclear force may or may not be higher than that of
electromagnetic force

2000 300 o 2003 WOy 0 W §77) W0 STP Goliudd) TY @il Fabuldy
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[f & and o, represent the permuttivity and permeability of free space respectively then
the dimenston of the product & o 1s:

€0 0O o AP V3 y0dTo sy, WYL HGAK RV SRS, & o

O GIg), he:

Options:

g P
.

7 Pl i
2. %

M° LT-!
3.

- MPLAT

4. %
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Two balls are released from the same position at a height of 500 m above ground, one
atter the other, with an tnterval of 1s. What 1s the distance between the two balls when
the first huts ground?

(Acceleration due to gravity ¢ = 10 m/s’)

Oole) oL &PaS 500 m J{EQ o w8 T BOP 688, 1 V5D T BTN

N 5@3@ RWAREATCEAVEN @“&6%@ Gole) 200 oﬁ)ég rdo adot$?
(oo g = 10 s

Options:

OS5 m
1. ¢

65 m

130 m

175 m
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A cyclist traversed half the distance of a lmear track with a velocity 10 mys. The
remaining part of the track was covered with a velocity v, for half the time and a

velocity v, for the other half of the time. If 171 + ;; =20m/s, then the average
velocity of the cyclist durmg the completion of the journey through the track is:

0 0% S0 65 o Crdond 10 s o & Hoirdod, P CPdosd
Shold’ v, od' 00 i Dsbaled v, s’ polrR, oa

Wy vy =20m 5 wom$ 3o SOIrmdyhs’ & 8 g, Wity dto 00

Options:

30 m/s
20 m/s

10 m/s
3. v

15 m/s
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A projectile 1s thrown at a speed which 1s twice 1ts speed at 1ts maximum height. If R

. . . , ‘B
and H are 1ts range and maxumum height respectively then the ratio - 1S;

8 DR e, o (108 ) 6 o) 6 77y Toliod S Do wolwied. R

00k H e SoRre o shoaku (0% ) ©ONKHS E W)E:

Options:
4
3
1.
V3
3
;"
s
3.5
23
4, ®
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A particle 15 moving m xy-plane crosses the origin at time t = 0. The equation of

s T L
motion of the particle is y=4x". If the velocity of the particle is v =| 2i+2 j) m/s
\

and acceleration1s =

aj ] ms” then the magnitude of ais:

Xy-Suo6 Soeadindy a8 86l t= 0 9o o4 o) Dooafh wréhol. Seio Gy, i

e p=4r’. S i v = (2 i+2 ;] m/s $00% &b = [a ; ms’ eowd

‘0’ gy D0STmLY
Options:

8

16
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A person 15 managing to be at rest between two vertical walls by pressing one wall by
his hands and feet and second wall with hus back. The coeffictent of friction 1s 0.5
between his body and the wall. If the force with which the person pushes the wall 1s
500 N, then the mass of the person 1s:

(Take g =10 m/s%)

28 998 Qo) D) (TG0 sy, ol (76 509 OGN Wwe” 00N des” Totesd
(Tlood) T¥ple0 W0 A0 oliticnreomey e, G HOa edd JYs i
i heao 0.5 oowdhs 00k o8 (Tich Saigerdl a6 woo 500 N, eowd
OO Qg T3,

(2= 10 n/s” rp S8 ko)

Options:

80 kg
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An object A of mass 20 kg and travelling at 20 n's crashes mto another object B of
mass 200 ke and travelling at 10 m/s, i the same direction. After the collision, object
A bounces back m opposite direction at a speed of 10 m/s. The speed of the object B
after the colliston 1s:

20 kg © 555078 tfo a8 S ‘A’ 20 s & H0SPERP, 08 &3S 10 mls & o
200 kg 553078 i B 03 S5u90 65 . @mo SKam A’ S 5308 G4
10 m/s 6ies” 08eehouiie, B’ cned) sy o6

Options:

13 m/s
1.¢

12 m/s
2. %

14 mv/s

20 mv/s
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A water pump rated 600 W, has an efficiency of 93 %. If 1t 15 used to raise water
through vertical distance of 60 m. The volume of water drawn in 20 minutes, is.

[Use density of water = 1000 kg m™, g = 10 m/s’]

600 W 3 2089 95 % oS (0050 &, €0 oo 60 m deed) od th ARS8 R
o%) WOIGRS iRy &, 20 NPV ot DndIBTPE (o) SR @‘_@a@).
[96) s = 1000 kg -, g = 10 mys?]

Options:
1.14 m°
1.¢
224 m’
2. %
11.4m°
3, %
22.4m’
4, %
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Ball P of mass m moving with velocity ‘v collides with another ball Q of mass 2m,
at rest. If v, and v, are the fial velocities of P and Q respectively, after collision,

then:
(Assume the coefficient of restitution 1s % )

m @iy TP P oy aeds” oireir, HoRds” ey m Qdgord fio Q e
oSS SERIPS Do, SeRrS QS v, hoaky v, L SR P ook
Q v Jrgéd:

(s tha: 1) 03500

Options:
s
"_Q=4
Vp

1, ¢
Ve _4
vV

2. % .
B
vV

3.8 F
L S
V

4, % %
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A wheel undergoes a constant angular acceleration from time t = 0 to t = 20s and
thereafter angular acceleration 15 zero. If angular velocity at t =2 s 1s found to be
5 rad’s, then the number of revolutions made by the wheel i time mterval t =0 to
t=30s1s:

W8 o £ 0 abols =202, 08 98 Sthold Sdeml & lehuod. t=2 2.0 &6 Sl
offo 5 rad/s @S, 1= 0 bobe £ 502, L oSO & ufo i BdEPL Nods:

Options:

1000 / 1
.

600 T
1500/ 1t

2000 / m

4, %
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A circular hoop of radius 50 cm and mass 1 kg rotating with an angular velocity wo 1s
placed on a rough horizontal surface. The mitial velocity of the centre of the hoop is
zer0. Let ‘v’ be the velocity of the centre of the hoop when 1t ceases to slip. The ratio
v/ wowill be;

50 em argiedo 06050 1 kg iS5 0%8 e SyeesUade!y Sl do wg & 2Ry
SOV £ NaTPoBd Soo RN EVARNT W §0§0 Cﬁlﬁz, e5'0 oo iﬁrﬁga.

oo 200 &) 6 S Sof aitfo ‘v oS v/ 1 A:

Options:

10 cm
1. %

50 cm
2.

25 cm
3. ¢

12.5 cm
4, %
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A simple harmonic oscillator has an amplitude of 0.5 m and a time period of 2
seconds. What 1 the magnitude of acceleration when 1t 1s displaced from the mean
position by 0.25 m?

WY o) I, GI0%), Somn) WO 0.5 m aOA B0 F0o 2 Wil Gl
aﬁ.)égoﬁ) :}"rﬁo b 0.25 m ?rﬁéoéo Woln)ie) TP éséﬂao oJoh?

Options:
2 3
T m/s’
1 b 4
2
T .2
—m/S
) 2
2. % =
.
—m/Ss”
4
3. ¢
+
.r"T 7.9
mi/is
4, % 8
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A point mass ‘m’ 15 located at a distance r from a uniform thin rod of mass M and
length L as shown m the figure. The magnitude of gravitational force of attraction 1.

M @dgoes 50 ook L driaw) 0008 DLW s‘@é T GrGesS ‘m’ 2ol PN
G 0 © QeasPdo gl m@@‘gﬁgﬁ W0 W0ERo.

M
m
oo g, e gy | . > X
K |, ¥ K [ ¥
Options:
GMm
I
1. ®
GMm
(x+ LY
2. %
GMm
r(r+ L)
3. v
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4.

Consider a fluid 1n a contamer. Let the density of the fluid at the surface and at depth

P

Hbe p,and prespectively. The bulk modulus of the flud 15 By. If p=
|+ap,gH

then the constant o 1s:

[Assume P [J

W8 POC QP Gy Q. 9,000 p o GR0SY HOA H T&G ST Jair

FodS ©dSol. Jarsr W o By wowd, ol F p= B woud
) |+ap,gl

NS0 @ V.

[p A «] 95 o ]
Py

Options:

Bo

R

B
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Liquid A 1ses to a height of 10 cm 1 a capillary tube and liquid B falls to a depth of
2 em in the same tube. The density of A and B are | glem’ and 10 glem’ respectively.
The contact angle of A and B with the tube 15 0° and 135° respectively. If the surface

| | LN
tenston of A and B are Sa and Sg then the ratio S_B IS
A

§ SIToddd, Gl ‘A" 10 om J&S oJAarSd Hookn o B 2 em TEK
2i0d. A 0000 B 0 roien S 1 glem’ ook 10 glem? 3y8y Samen 0°

600 135° oS, Sy Hookn Sz w A Hoak B faro Sudsdun w@ S

A

W)S:

=0

Options:

1, ®
2 2
2.V
|
2
3. %
|
2\2
4. %
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A wooden block of density 0.5 g/cc 15 tied to a string. The other end of the string 15
fixed to the bottom of a tank. The tank 15 filled with a liquid of density 1 g/cc. If the
tenston of the strig 15 20 N, then the mass of the block 1s:

(Take g =10 m/s")

P (.5 gloc o wd W8 bebyod GPCRRS ST, Gr¥o Toliad Wadl a8 &' @A)
Ao®. TG Fold 1 gloo oy Gbod” Ao, o Snigd 20 N oowdd
k) W3,

(2=10 m/s* S%50)

Options:

1 kg
1. ®

2 kg
2. v =

3 kg
3. %

0.5kg
4, ®
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The wavelength of the radiation emutted by a black body 1s 6mm and Wemn's constant
15 3 X 10-* mK. Then temperature of black body is:

5 S sowed) ode O Sof} @0goffo 0ea0 AN VAR 553 RO
3% 10~ mK, eowd $) S i), edfdd

Options:

JK
1%

3K
2. %

05K
3.

SOK
4. %
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Thermopile Bolometer 1s used to detect

DO INO WS ETOFR), BAV 3 BodtrS &OAIrHFE

Options:

1..%
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ultraviolet radiation

3D ared 9880

X —rays
o X — 80erPen
gamma radiation
, (Pad® 05080
3. %
infrared radiation
T°AEs V5080
4.9
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An 1deal monoatomic gas of volume V 15 adiabatically expanded to a volume 3V at
27°C'. The final temperature in Kelvins 1s:

(use Y =5/3)
C\’

o8 ¢ Dorl PR DG Q8 980D @goe 27°C 8 and0edrgay V ool 3V 8
a?%é‘ Qo). 600 0l &It Kelvin o8

(&:5/3 Pleobs)

C.
Options:
144.2
.Y
170.3
2, ™
. 504
3. %
10022
& ™
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The followmng figure shows a Camot engme that works between temperatures
T; =400 K and T, = 200 K and drives a Carnot refrigeration that works between

temperatures T3 = 350 K and T4 = 250 K. The quantity % will be
1

0 Pt 50y olofe Ty = 400 K 00 Ty = 200 K i Sy 0
Sonioty, 900t o 50y 90K o Ty = 350 K ook Ty = 250 K

SO0 55 53 S 6, sowd S 6 dpre

§
Tl
Q ¥ .
\ W %
(-
Q
Q, ¥ (A
TJ

Options:
1D
1
2.0
2. %
3. %
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(R
2
vy

1.75

4,
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Two non-reactrve monoatomic 1deal gases have their atomic masses m the ratio 3 : 4.
The ratto of their partial pressures when enclosed m a vessel kept at a constant
temperature 15 2 : 3. The ratio of their densities is:

B0l Wl olsséntodd eisd) SSOSPRSTOYC aIg), HFm Gsoro A
34, 0 ir0 W0 a0 S Gl ) are) ity A8 A0 ARG 1 - 3 eand,
AR SRS wdodh;

Options:

i1
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Which of the following 1s not a transverse wave?
- i v (
S0l IS 3035 Blorren FAR JD?

Options:

Light waves

P03 90PN

1 o
Sound waves
C’)OS@ SOorPen
2.V
Waves on a violin string
SGINOR SoB Sorren
3, %
Water waves
D¢ S0orPen
4, %
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A pomt source 15 located at a distance of 20 cm from the front surface of a
symmetrical glass biconvex lens with equal radit of curvature 5 cm. The distance at
which 1mage formed from the rear surface of this lens 1s:

|Given refractive index of the glass 1s 1.5

50 v J il v S5 PRGN TN e BRoarsd So e 20 cm
AP 08 dodesnisn 6516, o §508 08 ot Grocs eedomo XS

[rre S35 oo =15 P o]

Options:
20
—CIm
"
i
1.¢
10
—Cm
2. % )
5c¢cm
3. %
10 cm
4, %
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The fringe widths are found to be @ and @, respectrvely 1f a Young’s double slit

experiment 15 performed 1 medium of refractive mdex n; and np respectively. The
correct statement 1s:

ofoh %08 IS DaIrtond 1y 00050 mp dSabcbeazen o Tolid e (diaho)
6 DR, 28 Soldbudy S&rP 00k o, ™ B, wond & &
IORVVOTNEN o)

Options:

o, > O, ifn; > m

@, >, 1f n; <
2. ¢

@, =, 1fn; <m
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A particle of mass m and charge ¢ 15 thrown perpendicular to an electric field of
mtensity £ with an mitial velocity v. The particle moves a distance x perpendicular to

the field and a distance y along the direction of the field. If y=ax*then the qis
a1ven by:

Q5078 1 008 walto ¢ ffo ¥ Q) S8 E ) akiogy ESoeS omore ey
Vel 003006, Sto X - QPGo igé’)é QoorP a0 1-Grda ég&%@ AUNA)

WS y=ax’ vond a;

Options:
gk
m
1 8
qgLv-
m
2. %
2qE
2
my
3, %
gk
-
2mv-
4. &
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A circutt 15 shown 1 the following figure for which C; = (3 £ 0.011) pF,
C;=(5£0.01) pF and C3= (1 £ 0.01) pF. If C 15 the equivalent capacitance actoss
AB, then C 1s given by:

& Sl W duoked, €1 = (3 £ 0011) pF, C = (§ £ 0.01) pF ook

C3=(1 4 0.01) jiF. AB oo s C 536 oemgol 3?&&)&353 oS C deus:

A

Options:

(0.9 £0.114) pF

1. "

(0.9 £0.01) pF
2. %

(0.9 £ 0.023) pk
3.9

(0.9 £ 0.09) pF

4, %
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In a meter bridge experiment, the balance pomt from left 1s 37.5 cm. The ratio of the
right gap resistance to the left gap resistance is:

w8 DO 86 ARliod, Moo Do) wiaddod 37.5 em. H& @odr¥ITdo
005 Wil wodTe AT A S:

Options:
5
3

% 4
8
LD

2, %
4
3

3. %
3
2

4, ¥

Question Number : 109 Question Id : 342604749 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Given the fact that
A) Magnetic field exerts force only on a moving charge
B) Electric field exerts force on both stationary and moving charge

(') Magnetic field exerts force on charge moving parallel to the direction of the field.

S0l TP Yo GTOw

A) 0008 B0 Sty wdPo 3 ST werd) dRuod.

B) atiog 2o, 3 0605 00w w0 2 Toiold I wePd) ol

C) woliryo 2o, EEHI Droddore Sudi) GV 23 Werd) dwnod

Which of the following 1s true?

08 P 0 Qual?

Options:

A and C

A 005w C
1. %

Aand B

A 650 B
2. ¢

B and C

B 0603% C
3, %
4, %
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A, B 0adw C

Question Number : 110 Question Id : 342604750 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

A galvanometer coil has a resistance of 10 (2 and the meter shows full scale deflection
for a current of 2 mA. What resistance needs to be connected to convert the meter mto

a voltmeter of range 0 to 18 V7

Wo 10 0 & e o Pogddat, 2 mA S RIS PO R
PR, 2 Ao S0ko o & Poguato &, 0 ool 18 V' argaio
SONAG TP dPG)inyh?

Options:

8880 ()

8990 (1

2.

9000 (2

9010 )

4, %
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A magnetic dipole 15 placed horizontally with the north pole pomting towards north.
The horizontal component of earth’s magnetic field 1s 20pT. If the neutral point 1s
found at a distance of 20 cm i the plane bisectmg the dipole then the magnetic
moment of the dipole 1s:

(Assume p, =4mnx10”S.I. units)

6 QP8 QiWrd) @ GO0 Ward), AP U™ &% PoSUor
Goa. Wreoliry o 28 4w Varodd woto 20T, & Bilard) Giwid W
dued 20em © GRS ShRedold NSl & Gy ealirged
PaNS0 AN

(y =4mx107 S pfremen)

Options:

1.2 Am?

1 b 4
22 Am?

2. %
1.4 Am’

3, %
"
1.6 Am-

4. &
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An mfinitely long cylinder 15 kept parallel to an uniform magnetic field B directed
along the positive z-axis. The direction of nduced current as seen from the z-axis
will be:

08 O eY f 3Pend 63 2 e ot %) S0 by £ B §
SraBarp oy, Z- S48 o6 WPANYID 208 Al Prire NS
N)SAVA)

Options:

Z€10

&P g0

1.¢

along the magnetic field

0TI 0D S50 adold
2, % & iv
clockwise of the +ve z—axis
+ve 7— o328 F(Jég&%’eﬁ"’
3, %
anti-clockwise of the +ve z—axis
Ve - o308 ©00S53ES
4, ®
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A resistor of 20 () and a capacitor are connected in sertes with an AC current source
of 50Hz. What should be the capacitance to produce a phase difference of 30°

between the voltage and current?

0 200 20 0 0000 08 3806, S0Hz to AC 2l aidd 386 S0y
20096 0010 B 085 30° 55 3o EOSEHS TS0 R0 No8?

Options:
|
mkF
or
1. %
J3
—mkF
27
2. ¢
\E mk
3, %
9 .
——mkF
T
4, %
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A laser beam has intensity 17.7 x 10" W/m®. The amplitude of the electric field
1S,

o £
[Use g, =8.85x10™ ——

N-M*

o laser oy gy, 890 17.7 x 104 W', eowd aiogs 8o aing)

Sownd WO,
i
6, =885x10"——
4 N-M |
Options:
EXIOQN J'C
J3
1. %
Iolﬂ ﬂ
, B
2. %
L
x10°N/C
2
.. -
2 |
—x10°N/C
4. ?
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A light bulb of power 100 W 1s placed at the centre of a hollow sphere of radius
10 cm. If the 66 % of the energy 1s converted mto light, then the pressure exerted by
the light on the surface of the sphere wall be:

(Assume the surface of sphere to be perfectly absorbmg)

10 em apgo o &8¢ (o Sy Sollo &8 100 W rdlgoto a8 e bulb &
G, 060 % 45 S8 ol 17 ST, & 3ol (15 tiﬁ.).ﬁzI S0oR Southan aco;
(%o 650800 0P 40k Pid)

Options:

1.OX10° N/ m’

1. %

1.5x107" N/ m*
2. %

1.75x10° N /m”
3.

75x10° N/ m?
4, %
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A hydrogen atom emits a photon corresponding to an electron transition from
n=>3to n=1.If R 1s the Rydberg constant, then the wavelength of emitted photon is:

w8 hydrogen H3ST)E woFsw Voo 1= 5 o0 =1 § 00K FES
s, R’ Rydberg cmobaondsd, abnsdte 37 o), Satiadgaly

Options:
25
24R
T. v
24R
25
2. %
d
SR
3. %
SR
.4
4, %
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If 5 mg of **Uis completely destroyed in an atom bomb, then approximate total
energy released 15:
(grven that the energy released per fission 15 200 MeV)

ad 3¢ 5 mg 0 U Pore af S0arm wrand e wobniad, Wardie ot
Oy Ao #S:
(a8 D a@@ QU Balogds 200 MeV r ggeiad).

Options:

4%x10%]
6x10")
5%107]

3x10")

Question Number : 118 Question Id : 342604758 Question Type : MCQ Option Shuffling : Yes
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[n an mtrinsic semiconductor at room temperature number of electrons and holes are

(0 Y3 5 g St aduganen shOok Sogren

Options:
1.9
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equal

SINUINNW
Zero
CHINIINIY
2. %
unequal
CSINVANAGY
3. %

electrons more than holes

905755, Sogren Sol3 B0y

4, %

Question Number : 119 Question Id : 342604759 Question Type : MCQ Option Shuffling : Yes
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Identify the logic gate for which the output 1s 0, when any of the mputs 15 |

QB AT 1S, &) B8 @008 0:HE K ErSgesn oot

Options:

NOR

1.
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Question Number : 120 Question Id : 342604760 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

A carrier wave of peak voltage 15 V 15 used to transmit a message signal. What
should be the peak voltage of the modulatmg signal i order to have a modulation
index of 80 %?

Vo) NalPard 3R] WodowiRS s Slotfo iy, 30 4G 15 V plabid.
PG00 P 80 % S8 dPtgOeon N0SerR8 SOy 0% 30 B Wod?

Options:

8V
1. %

10V
2. %

11V
3. %

12V
4.
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Question Number : 121 Question Id : 342604761 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ratio of the highest to the lowest wavelength of Lyman series 1s

G55 S B3 Sooaty IS SduiplInw A)S

Options:
4 :
1, ¢
9:
2_ e
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Question Number : 122 Question Id : 342604762 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The relation between the stopping potential (Vo) and frequency (v) 15 correctly

represented i | ¢ = Work function|

b O ol SO (V) HOA g (V) © Rowodd)
SO0DWOIN Vb8Ueadn [ ¢ = Work function]

Options:
7
o ¢ v
0=
1. 8 e €
.. Re
LO :_._*_g
_ V e
2.
o hv ¢
0=
3 & e e
s
V, =—
&
4, ®
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Question Number : 123 Question Id : 342604763 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The correct imncreasing order of the electronegativity 1s

20008 VZWPS ) ES O E0ain
Options:
B = C a8 S < Cl
1.¢
B<S<C<C(Cl
2, »
B<ii=<(Cl<S
3. %
C<B<8S<Cl
4, %
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The alkaline earth metal sulphate, which has 1ts hydration enthalpy greater than it
lattice energy 1s

Sob U038 S N0y B gy, s Wowrd) s g Sofd Sy,
Options:

BeSO4

1.¢¥

BaSOg4

CaSOyq4

SrS0O4

Question Number : 125 Question Id : 342604765 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A pair of molecules with see-saw shape and linear shape, respectively, 1s

Sobd el 2 i O VT SR Wy 0K Tarsyd axgdd 0
&obPON?

Options:

CH4 and SO3

CHj4 06050 SO;3
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3.

XeFs and CS»

XeFs 00030 CS?

SF4 and CgHz

SF4 0008w C2H>

CCly and CO»

CCls 0050 CO

Question Number : 126 Question Id : 342604766 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0
Which of the following species 1s a radical?

808 e TPEES D DB?

Options:

2.

CO>

NO
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NO,

CN

4, ®

Question Number : 127 Question Id : 342604767 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

| L each of gases A and B diffused through a membrane m 15 and 30 mimnutes,

respectively, under identical conditions. What is the ratio of molecular weight of A
and B?

W8O8 waird w0, 1 Gt . 2. flu A Hook B o aroluaen o
FOtoee 15 00 30 Q. 08 aPgdad Sodd, A HE0N B 0 wwerey )&
0otH?

Options:

i

2

o
[—

1:4
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Question Number : 128 Question Id : 342604768 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The figure represents PV vs P relation for CO, CHs, Hy and He gases under 1dentical
conditions. Which curve, shown i the figure, represents He gas’

o 9008 CO, CHy, Hy %008 He arofuedo ity PV vs Pl o b

Mol 0 ) (P He a00ah oot

S
L

P—

Options:

1
1. *

¢,
2. %

“5

3
3.+

4
4, %
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Correct Marks : 1 Wrong Marks : 0

An organic compound contains 60% C; 4.48% H and 35.5% O. Its empirical formula
1S

S 5(‘.52)&5 f&&b&%oﬁn 60% C: 4.48% H 0050 35.5% O & 500 &y &. @ estaeral
SJ“@&U

Options:

CoHgO4
1.¥

CsH402

CsH404

CoH70s

4. %

Question Number : 130 Question Id : 342604770 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

The number of sodium 1ons present in 0.5 mole of sodium ferrocynide 1s

0.5 Srdo FEao Y VONIE SR FEAo ©ATPRY Vot

Options:

[ ]
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2 X 102

05 % 107

12 x 10*
3. ¢

4 x 103

Question Number : 131 Question Id : 342604771 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many times the volume of a diatomic gas should be mcreased reversibly and
adiabatically m order to reduce 1ts RMS velocity to half of its mitial value.

GO0l LIRS D8aD WP qo &b Gyl ks g RMS dred), &°0 aoudd
P8 EowGrS & PO ), Sod D0TERR) W) Bl DoubelS) ?

Options:
4

1. ®
8

2. %
16

3. .
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Question Number : 132 Question Id : 342604772 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct decreasing order of the basic strength is

OB 380 A%y VOGS @IT it S0w
Options:

HS =CH, >NH, >CN

HS »>CN >NH, >CH.

2. %

CH,” >NH,” >CN~ >HS~
3. ¢

NH,” > CN~ >CH,” >HS~
4, ®
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The equilibrium constant for the reaction 1s P,(s)+350,(g)=P,0,,(s)

P, (%) + 50, () =P,0,, (%) 565 o208, H0EPS Hoeeestd dews

Options:

K =90

1 =

K= [P4Om] /[P4] [02]5
2. %

Ke= [Oz] :
3. %

|
Ke=
[0,]°

4.

Question Number : 134 Question Id : 342604774 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The sum of the total number of neutrons present in protium, deutertum and tritum is

2YéSaie, (gtdoctio 500 0SB $PgtrBo Koo

Options:
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1. %

-

% |
2.

4
3, %

6
4, %

Question Number : 135 Question Id : 342604775 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A metal ‘M’ readily gives MSO4 which 1s soluble m water. It forms its oxide MO
which 15 amphoteric. It forms an msoluble hydroxide M(OH),, which 1s soluble m
NaOH solutton. The M1

M e firai 0w MSOy, 9696 $iocios. 2 M, MO &3 Bgioeane¥ )6
o35 YR8 M @036 86ticdold M(OH)2 o R0, )63 M(OH), ¥
PE\E s Korosod. & Sob eSS’ a M?

Options:

Be

1.

Ba
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Question Number : 136 Question Id : 342604776 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following oxide dissolves m both hydrochloric acid and sodmum
hydroxide?

8o i3 0 TS0 et ook Faoho eSS e Korbeed ?

M

Options:

MgO

Na_zO

Al O3

BaO

Question Number : 137 Question Id : 342604777 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientatign : Vertical
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Which of the given atoms has the greatest electron affinity?

800 AT SR8 DUFIe VIAED FINSH
Options:

I

Cl

2.¥

Al

Question Number : 138 Question Id : 342604778 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The indicator used during the estimation of COD of a water sample 1s

GPOD 820 @500, Aowowd VIO G rE

Options:

EBT

KUEL

2: v

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Ferrom

Phenopthalene

Question Number : 139 Question Id : 342604779 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The stability order of the given alkenes 1s

806 ©9) DL VOGS LS00
@ 4y (IID)
Options:

(D > (I0) > (1)

1. ¥

(D > (1D > (1D
2. %

(1) > (I1) > (1)
3. %
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(I1I) > (I) > (II)

4, v

Question Number : 140 Question Id : 342604780 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the following reactions, the reaction that “does not” give alkane product 1s

S0l 90w nﬁégﬁj @6&5 &GO\ 955%

Options:
CH,C =CCH, b2 ,
1. %
Electrolysis
D36 SIS
CH;CHCH,CH2CO2Na .
2. %
Na. dry ether
CH3;CH2Br F6 S0 >
3. %
D
CH,CH,CH,cHF—222
4.

Question Number : 141 Question Id : 342604781 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Hex—1-yne on reaction with Br, (excess)/ CCls, gives

2rsy —1 - 08 Brz (808 ) / CCl, ¢8° 585 S0l a8 )60

Options:

1.1. 3.3 — Tetrabromohexane

[, 1, 3,3 - &Py ararie

1 _
2.2. 3.3 —Tetrabromohexane
2.2.3.3— 5@"8§5§“3J°@o%
2. % i
1.1. 1.2 — Tetrabromohexane
1.1, 1, 2 — &¢reS Srarie
\._J - &
3, %
1.1. 2.2 — Tetrabromohexane
1,1, 2 2 — &¢reSarariio
4. S .
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The number of voids mn 1 mole of a compounds forming a hep structure are

hep o= o6 Y0 a8 3PS DErEane'd 05w (Sogrw) Howg

Options:

1.8 & 10

T

3.6 % 10™

6.0 x 10%

7.2 x 10?4

Question Number : 143 Question Id : 342604783 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A 3 mL of solution was made by dissolving 20 mg of protem at 0 °C. The osmotic
pressure of the resultg solution 15 3.8 torr. The molecular weight of the protemn 15
approximately (1n g / mol)

0 °C &6 20 avro FERD Bow 3 200 ey SArG WoDEDID. &
@Sy sy, Gerdden el 3.8 R0 . & e cln), omarday el

(r [ a0, 09)

Options:
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x 10°

&9

x 10*

)

;¥

')
X
[o—
<,

4, %

Question Number : 144 Question Id : 342604784 Question Type : MCQ Option Shuffling : Yes
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When salt 1s added to water, which of the following statement 1s true?

3438 LSEPR), SORSD, S08 PEIS’ DO ASFEIIN
Options:

Boiling point decreases

COSSRPATINEVIN NIV To VU PRTAY
1. % ) .
Boiling point increases
DVSREANINEVINN I o ViV WRTA
2. ¢ .
3, %
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Boiling point remain constant

A& YEIES PSS LSS

Freezing point increases

08380 PS50 DEHBVE

4, %

Question Number : 145 Question Id : 342604785 Question Type : MCQ Option Shuffling : Yes
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. A " ) _ e
Given 1°, . =106 S em” mole™, A° . =160 S cm’mole™. The value of J,

S0,

(in S cm’ mole™) is

1° . =106 Hade ad? Irdt, K =160 09 A 3PS5 oSS

hlig-"r

0
Vo R AP hy o DS
Options:

- 271.6

1. %
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Question Number : 146 Question Id : 342604786 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

For a first order reaction tx is 1200 s. The specific rate constant in s~ is

a0 §almo¥ g G g a6 To () 1200 Ahhen oS 8 B TPata
0 V1, 08
Options:
58x107™*
Y
5.8x107
2. %
0.58 x107°
3. %
0.58 x10™
4, %
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Which of the following statements 15 false during adsorption of gas molecule on a
metal surface?

O3 a0Suo 3 0bd R0 Woid OGN NoaoBowd Big)) NP

Options:

Enthalpy change 1s positive

DoTOY MY By L
1.¢

Entropy change 1s negative

ofSD ST VBRI ESN

Both enthalpy and entropy simultaneously decreases

oGP ) 0O obog D0 Oola) SoPG® 6’3@@“0.)) '

Free energy change is negative

RIWR) 85 VLS eaErSy Sl

4, %
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Give the correct characterstic colours of the products (P, Q. R, S) formed mn the
following reactions.

306 W08 Y3 69V 0 (P, Q. R, ) 90 Gofh

y No+No, RS
B)  2NO,« > Q
0 Pb(NO,,— >R+ PO
D)  HNO,+P,0, ——$ +4HPO,
Options :
P Q R S

Blue Colourless Brown  Colourless
Do RRIOAWN QYA SN SENTOAIN

1.¢

P Q R S

Colourless Blue Colourless Brown
STONIORY D0 STSRIOAW AN

2. %
P Q R S
Colourless Colourless Blue Brown
OAB0DN  WII0N Do S EANNN
3, %
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P Q R S

Brown Blue Colourless Colourless
QYASINS Do SISO IO URE SR TO Y

Question Number : 149 Question Id : 342604789 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

The neutral oxide among the following 1s

808 TS’ BLD BHE

Options:

SO»
1. ®

CO
2. ¢

CO>
3. %

CaO
4, »

Question Number : 150 Question Id : 342604790 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

»
collegedu nia
o - India’s largest Student Review Platform

el



Mustard gas among the following is

80l &3S’ oﬁs"mé TPOSY)
Options:

CCLILNO;

CICH>CH>SCH>CH>)Cl

2.9
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]
The reaction of aqueous [Ni(HEO) J+ 1s performed by the addition of a bidentate

ligand ethane-1, 2, diamune (en)

2
a0 [Ni(H0), | 851, 2 oS (55) o3 o6 prrobis' 3 5o

Match the following

Sold E) OV

Ni(H,0),

Ay 121

(ww)
S ——
M
-2

)

- en molar ratio

The correct match 1s

808 PEIS" VOGRS 68

Options:
A
I

g

2, %

Colour of the
product

Ni(H,0) ﬁ_2+ el PO RS GO ) W00

[) Paleblue
SSNIAW

[) Blue/Purple
VO / G

[l) Violet
0 Sardt

V) Green
SRV
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11 11 IV
A B k
11 | 11
3, %
A B L
. IV | I11
4, %

Question Number : 152 Question Id : 342604792 Question Type : MCQ Option Shuffling : Yes
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The number of bridged CO ligands present m Fex(CO)o and CO(CO)s, respectively.
are

Fex(C0)g 8050 COx(CO)s, 06" Aketd CO Srroto ORI WP
Options:

2.1

]
]

)
P

4.
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Question Number : 153 Question Id : 342604793 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Glucose on prolonged heating with HI, gives product P. The product P 15

AP§E wreran) HI o° S63080 616 6831850 (P)

Options:

CH,I

CH,OH

CHO

(CH-I),

|

CH,I

CH

(CH,)

4

CH,

3.

(CHOH),
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CH, -1
(CHI),

CH,]

4, %
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The most reactive molecules towards Sx' reaction 1s

Sn' W03 P $OIr80E v

cl
H,CO” l] ll "OCH,

(I)

T,
03

(111)

Cl

(V)
Options:

(I). (IV) and (V)

(1), (IV) 06050 (V)

1.¢

2, %

CH,CHCI

(I1)

H.C

H.C

3

\

C—Cl
/
CH

S

(IV)

Cl cH
CH

(V)
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(I). (I) and (IV)

(D), (IT) 63w (IV)

(II), (III) and (V)

(II), (III) so6asw (V)

3. %

(IV). (V) and (VI)

- (IV). (V) Soeck (VI)

4, %

Question Number : 155 Question Id : 342604795 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

[dentify A, B and C, respectively, m the following reaction sequence are

306 Somg IS’ D8NG A, B, C 0 oot

Options:
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COOH
. : OH
OH
1, ®
A B L
H OH
i OH )\
2. %
A B C
OH
CH, OH
H,C—C —OH )\
&
R
3. %
4. &
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CH, OH
; O
HC—C—0—0—H )]\
o
AN

Question Number : 156 Question Id : 342604796 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The reaction used for the synthesis of ether 1s
&30 003NN &OAIFHow WO

Options:

Williamson’s synthesis

DAL HOy HoFeas
1s

Reimer- Tiemann reaction

3506 — e85 50y

Sandmeyer reaction

Fols HODHE O3
3. %
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Finkelstein reaction

2o8S ;?5 \5(‘.55

Question Number : 157 Question Id : 342604797 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product of the following reaction 1s

808 WSS” DBNE DTS €535 S50
O
CHO 1) Conc. NaOH, A)
i) HO'
H.C
Options:
OH
CHO
H.C
1, % '
OH
OH
H,C
2. %
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OH
COH

H.C
3,Y

CH,0H
H,C

Question Number : 158 Question Id : 342604798 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product formed in the following reaction scheme 1s

S0l wiTey DS b%é D GO YN ) W

1) Br, . hv
11) Mg , dry ether

) CdCl,
1v) CH,COCl
Options :
OH
CH,
1. %
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CH,
2. %

HO CH,

CH,
3. %

0
CH,

4.

Question Number : 159 Question Id : 342604799 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following 15 correct structure of the semicarbazone formed when
ethanal reacts with semicarbazide?

BTG 2 S RES’ Mg o) 1 HOGhS HTEYA'S o)y

Options:
T
H.C—CH=N-C—~NLl-NI1,
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0
|
H,C—CH, —-NH-C—NH-NH,

2. %
T
H,C—CH=N-NH-C-NH,
3.
T
H,C —CH, — NH—NH - C—NH,
4. %

Question Number : 160 Question Id : 342604800 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

A 90 g of ethyl amime on reaction with methyl chloride produced a tertiary amme as
an exclusive product. The amount of methyl chloride required 1s
(Given mass mamu : H=1,C=12,N=14,C1=35.5]

90 [P0 $36 0 236 §06d" SyTob 80 - 0T 48T ) YIS
SO DO § 0 20T
(amuod @dgorden: H=1,C=12,N=14,C1=35.5)

Options :

505 ¢
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3

101 g

9

-

2
0Q

I

e

I
e

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



